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Almc AM\/\/ \
— e &C; - — Intermediate Algebra

Ms. Schmidt
Unit 4 Review

2) Compule the valuc (cvaluate by using calculator!)

"2 2\’ 2 2
d. ("2)4 b. (E) c. [645] d. 83 x 252

b, & b4 900

1) Write the following as POSITIVE exponents

a. 573 b. "r_: — © (E)-z
A

s
5 B X E%, )-1 Ho—

3) Multiply. Exponents must be put into positive exponential form |

. 3 Y
a. 873-87 = 8_‘-1_ b, 4% 413 .4 = ”L{ c. 3x¢-—6x"? =‘ﬁ5_£ d. 375-377= 3 ‘4

Multiply and put answers into positive exponential form. 3
L § l

- 2.,)
. 77927t = 1V* d () --d X

4) Raising a Power to a Power:

I
a. (5%)3 = 5 b, (3x72y)* =_.k.3ﬂ
34_)(_qu _’—\Lp_']‘/

L~

5) Dividing exponents with the same base. Put answers in positive exponential form.

g A : vy
- g - %3 I LR =Y

_8y9

tIN

6) Rewrite the fractional exponents as a root.

: b. 77 c. (4x5)s d. (5x)2

E T Y Vs
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7) Simplify each of the following with positive exponents. m?
5 —72%3 'r'_?;
a. 5x? b. (8x)° c. (5x"Y ) " P
. 5 5 by b m>~
5 | 2" x Y
82
Bs h. yx
’
c90 ) (. 2x5y 774 £ (5x”5)(3§) 5 - ¥
) = .
q*® _dnb ISX ) 3 XA
Y
8) Solve and check ﬂn'x.(oan)rl 33)-2 S((sY 1Y) 3(5)-Y) ,3(«3}‘354ﬂ
2v+1 — 53x-2 b, A2(x+1) 3(x-1) - c. 1531_8 = p** N
A § =% b AN =3 e

QB T i sbe) 387 B85S
-_9[,&(0/“’ QQ;I.I’)M- - ;;_,ffi ~

//— X-2
= =

9) Perform each of the operations

a. Subtract (—x?+47x—3) from (2x% + 7x + 10)

(Qr? T7>L+l(,) m 3)
AXPF Tt 10 +XR -IXTD =

b. Multiply: (—2x+3)i6x+1)
~13A? —g A FIR x4+

~1Ax*+lox 13
c. Addj@and —7x3 _?icf—?.xéﬂ‘

2x2 0N x%-2X

10) Is (0, -3) a solution of the system of equations: —5x +y = —3
f < (3;;}:2; H(0)-8 (-5):=8¢
U, b o > S
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:5(5) =0

11) Solve the system of cquations and check:

—8x+2y:0 ‘
(0,0) x =3y — S'MJE%LLO‘)
=3 3y) 18Y70 6=6 < |
-Adly 4ay =0 —5(o>+9(0>
=)

;-) ’
12) Is (3. -1) a solution of the system of equations: —4x +y = —17

‘Zi(%\ +(~\):—|'] _5x—7y=—13
~Va5 =1
o)

13) Simplify each of the following with positive exponents.
36x2 36x7y N —10x5y7 [ a

c. (-3a3 +5a% + a — 13) —L4a® + 2a° i/_6a j 2)

742 +)1a*-5a -1
d. 52 L{\/—_S-S- e. —7x 72 __:_2—-

L7y (3 A - —
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14) Find the sum 0~ I%xEtm@ 2x E 8 /

Qg bxT-x -2

15) Multiply: (3% + 2)(x - 10)

Hr2-30 x +3 » DO
A x2-28 x-20O

16) Simplify: (x? — 5x — 2) - (/-kfﬁxz P?x f\3)

T7xﬂ+gx+l

17) Subtract 3x* — 2x +9 from 2x? — 5x + 13

L9 x2S 431y 1 B35 %x9)
"R =B

18) Ad+ 10x = 5) and(@x2}+ 10x - 2)
|4 x?+20x—)
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